# Mapping Methods to Solve a Modified Korteweg-de Vries Type Equation 

Edamana. V. Krishnan<br>Department of Mathematics and Statistics, College of Science, Sultan Qaboos University, P.O. Box: 36, PC 123, Al Khod, Muscat, Sultanate of Oman. Email: krish@squ.edu.om.


#### Abstract

In this paper, we employ mapping methods to construct exact travelling wave solutions for a modified Korteweg-de Vries equation. We have derived periodic wave solutions in terms of Jacobi elliptic functions, kink solutions and singular wave solutions in terms of hyperbolic functions.


Keywords: Jacobi elliptic functions; Korteweg-de Vries equation; Solitary wave solutions; Travelling wave solutions.
طرق رسم الخرائط لحل معادلة كورتيج دو فريس المعدلة

ادمنان كرشنان



## 1. Introduction

TTravelling wave solutions (TWSs) of nonlinear evolution equations have been extensively studied due to their significant applications in mathematical theory and other fields in physical sciences. The advantage of using travelling wave solutions is that the governing partial differential equation (PDE) reduces to an ordinary differential equation (ODE) which makes it easier to solve. Several methods using TWSs have been proposed such as the tanh method [1], the exponential function method [2], the Jacobi elliptic function (JEF) method [3], mapping methods [47] etc.

Solitary wave solutions (SWSs) of different types of Korteweg-de Vries (KdV) equations have been a field of intense study in many branches of Physics over several decades [8-11]. A variety of KdV equations have been proposed since the discovery of solitons. Because of the rich structures of the solutions, both mathematicians as well as physicists have been attracted to this field of research.

In this paper, we derive periodic wave solutions (PWSs) of a modified KdV equation in terms of JEFs [12] and deduce their infinite period counterparts in terms of hyperbolic functions such as shock wave solutions and singular wave solutions using mapping methods. The mapping methods employed in this paper give a variety of solutions, such as hyperbolic function solutions, different types of JEFs etc., which other methods cannot do.

## 2. Mathematical Analysis

In this section, we give an analysis of the mapping methods which will be employed in this paper. The analysis given below is, in general, for a system of PDEs [13] but in this paper we have applied it for a single PDE.

Consider a nonlinear coupled PDE with two dependent variables $u$ and $v$ and two independent variables $x$ and $t$ given by

$$
\begin{equation*}
F\left(u, v, u_{t}, v_{t}, u_{x}, v_{x}, u_{x x x}, v_{x x x}, \ldots\right)=0, \tag{1}
\end{equation*}
$$

where subscripts denote partial derivatives with respect to the corresponding independent variables, and $F$ is a polynomial function of the indicated variables.

Step 1: Assume that (1) has a travelling wave solution in the form

$$
\begin{equation*}
u(x, t)=u(\xi)=\sum_{i=0}^{l_{1}} A_{i} f^{i}(\xi), v(x, t)=v(\xi)=\sum_{i=0}^{l_{2}} B_{i} f^{i}(\xi) \tag{2}
\end{equation*}
$$

where $\xi=x-\lambda t, A_{i}, B_{i}$ and $\lambda$ are arbitrary constants, $l_{1}$ and $l_{2}$ are integers and $f^{i}$ represents integer powers of $f$. The first derivative of $f$ with respect to $\xi$ denoted by $f^{\prime}$ can be expressed in powers of $f$ in the form

$$
\begin{equation*}
f^{\prime 2}=p f^{2}+\frac{1}{2} q f^{4}+r \tag{3}
\end{equation*}
$$

where $p, q$ and $r$ are arbitrary constants. The motivation for (3) was that the squares of the first derivatives of JEFs can be expressed in even powers of themselves.

Step 2: Substituting (2) into (1), the PDE reduces to an ODE. Balancing the highest order derivative term and the highest order nonlinear term of the ODE, the values of $l_{1}$ and $l_{2}$ can be found.

Step 3: Substituting for $u$ and $v$ and using (3), the ODE gives rise to a set of algebraic equations by setting the coefficients of various powers of $f$ to zero.

Step 4: From the values of the parameters $A_{i}, B_{i}, p, q$ and $r$, the solution of (1) can be derived. Thus a mapping relation is established through (2) between the solution to (3) and that of (1).

It is to be noted that if the values of $l_{1}$ and $l_{2}$ are integers, we can use the method directly to get a variety of solutions in terms of hyperbolic functions or JEFs. If they are non integers, the equation may still have solutions as rational expressions involving hyperbolic functions or JEFs. The JEFs and their main properties have been described in Appendix.

## 3. A Modified KdV-type Equation

In this paper, we derive a variety of solutions in terms of JEFs and their infinite period counterparts, which are kink solutions, SWSs or singular SWSs for a modified KdV-type equation derived in [14]. In a study by Wazwaz [15], he has derived kink solutions and single and multi SWSs for this equation using Hirota's method. The equation under consideration is

$$
\begin{equation*}
u_{x x t}-u_{x} u_{x t}-4 u^{3} u_{t}+4 u u_{x x x}-4 u_{x} u_{x x}-16 u^{3} u_{x}=0 . \tag{4}
\end{equation*}
$$

We search for travelling wave solutions of (4) in the form

$$
\begin{equation*}
u(x, t)=u(\xi) . \tag{5}
\end{equation*}
$$

Substitution of (5) into (4) gives rise to the ODE

$$
\begin{equation*}
(4-\lambda) u u_{\xi \xi \xi}-(4-\lambda) u_{\xi} u_{\xi \xi}+4(\lambda-4) u^{3} u_{\xi}=0 . \tag{6}
\end{equation*}
$$

Dividing by $(4-\lambda) u^{2}$ and integrating with respect to $\xi$, we arrive at the equation

$$
\begin{equation*}
u_{\xi \xi}-K u-2 u^{3}=0, \tag{7}
\end{equation*}
$$

where $K$ is the integration constant.

### 3.1 Mapping Method

Applying the mapping method it can be seen that $l_{1}=1$ and so we assume that (7) has the solution of the form

$$
\begin{equation*}
u(\xi)=A_{0}+A_{1} f(\xi) \tag{8}
\end{equation*}
$$

where $f$ satisfies (3) and $A_{0}$ and $A_{1}$ are constants to be determined. Cases in which $l_{1}>1$ have been considered in [16].

Substituting (8) into (7) and using (3), we arrive at the following algebraic equations:

$$
\begin{align*}
& q A_{1}-2 A_{1}^{3}=0,  \tag{9}\\
& -6 A_{0} A_{1}^{2}=0,  \tag{10}\\
& (p-K) A_{1}-6 A_{0}^{2} A_{1}=0,  \tag{11}\\
& -K A_{0}-2 A_{0}^{3}=0 \tag{12}
\end{align*}
$$

Solving these equations, we get

$$
\begin{equation*}
A_{0}=0, A_{1}= \pm \sqrt{\frac{q}{2}}, K=p \tag{13}
\end{equation*}
$$

For illustration, we consider the following cases.
Case 1. $p=-2, q=2, r=1$.
Now, (7) has the solution $f(\xi)=\tanh \xi$ (see [4,5]). Therefore, (4) has the kink solution

$$
\begin{equation*}
u(x, t)= \pm \tanh (x-\lambda t) \tag{14}
\end{equation*}
$$

Case 2. $p=-\left(1+m^{2}\right), q=2 m^{2}, r=1$.
Now, (7) has the solutions $f(\xi)=\operatorname{sn} \xi$ and $f(\xi)=\operatorname{cd} \xi$ (see[4,5]). So, (4) has the PWSs

$$
\begin{equation*}
u(x, t)= \pm m \operatorname{sn}(x-\lambda t) \tag{15}
\end{equation*}
$$

and

$$
\begin{equation*}
u(x, t)= \pm m \operatorname{cd}(x-\lambda t) \tag{16}
\end{equation*}
$$

As $m \rightarrow 1$, the kink solution (14) is recovered from (15), and (16) gives a trivial constant solution.
Case 3. $p=2-m^{2}, q=2, r=1-m^{2}$.
In this case, (7) has the solution $f(\xi)=\operatorname{cs} \xi$. Therefore, (4) has the PWS

$$
\begin{equation*}
u(x, t)= \pm \operatorname{cs}(x-\lambda t) \tag{17}
\end{equation*}
$$

As $m \rightarrow 1$, (17) gives rise to the singular SWS

$$
\begin{equation*}
u(x, t)= \pm \operatorname{csch}(x-\lambda t) \tag{18}
\end{equation*}
$$

Case 4. $p=-\left(1+m^{2}\right), q=2, r=m^{2}$.
Here, (7) has the solutions $f(\xi)=\mathrm{ns} \xi$ and $f(\xi)=\mathrm{dc} \xi$. Thus, (4) has the PWSs

$$
\begin{equation*}
u(x, t)= \pm \mathrm{ns}(x-\lambda t) \tag{19}
\end{equation*}
$$

and

$$
\begin{equation*}
u(x, t)= \pm \operatorname{dc}(x-\lambda t) \tag{20}
\end{equation*}
$$

As $m \rightarrow 1$, (19) leads us to another singular SWS

$$
\begin{equation*}
u(x, t)= \pm \operatorname{coth}(x-\lambda t) \tag{21}
\end{equation*}
$$

In the infinite period limit, (20) gives a trivial constant solution. It is worth mentioning that for Case 1, $f(\xi)=\operatorname{coth} \xi$ is also a solution which is a special case of Case 4 when $m \rightarrow 1$.

### 3.2 Modified Mapping Method

This method gives a combination of a hyperbolic function or JEF and its reciprocal as solutions. In this case, we consider the solution of (7) in the form

$$
\begin{equation*}
u(\xi)=A_{0}+A_{1} f(\xi)+B_{1} f^{-1}(\xi), \tag{22}
\end{equation*}
$$

where $f$ satisfies (3) and $A_{0}, A_{1}$ and $B_{1}$ are constants to be determined. Also, $f^{-1}$ is the reciprocal of $f$. When $B_{1}=0$, this method reduces to the mapping method.

Substituting (22) into (7) and using (3), we obtain the following algebraic equations:

$$
\begin{align*}
& 2 r B_{1}-2 B_{1}^{3}=0,-6 B_{1}^{2} A_{0}=0  \tag{23}\\
& p B_{1}-K B_{1}-6 B_{1} A_{0}^{2}-6 B_{1}^{2} A_{1}=0  \tag{24}\\
& -K A_{0}-2 A_{0}^{3}-12 B_{1} A_{0} A_{1}=0  \tag{25}\\
& p A_{1}-K A_{1}-6 A_{0}^{2} A_{1}-6 B_{1} A_{1}^{2}=0  \tag{26}\\
& -6 A_{0} A_{1}^{2}=0, q A_{1}-2 A_{1}^{3}=0 \tag{27}
\end{align*}
$$

These equations lead us to

$$
\begin{equation*}
A_{0}=0, A_{1}= \pm \sqrt{\frac{q}{2}}, B_{1}= \pm \sqrt{r}, K=p-3 \sqrt{2 q r} . \tag{28}
\end{equation*}
$$

We now consider some choices for the parameters, as the first three cases of Section 3.1, to obtain the following cases.
Case 1. $p=-2, q=2, r=1$.
Here, (7) has the solution $f(\xi)=\tanh \xi$. So, $u(\xi)=\tanh (\xi)+\operatorname{coth}(\xi)$ satisfies (7) with $K=-8$. Therefore, (4) has the solution

$$
\begin{equation*}
u(x, t)= \pm[\tanh (x-\lambda t)+\operatorname{coth}(x-\lambda t)] . \tag{29}
\end{equation*}
$$

Case 2. $p=-\left(1+m^{2}\right), q=2 m^{2}, r=1$.
So, equation (7) has the solutions $f(\xi)=\operatorname{sn} \xi$ and $f(\xi)=\operatorname{cd} \xi$ with $K=-\left(1+6 m+m^{2}\right)$ (see $[4,5]$ ). Therefore, (4) has the PWSs

$$
\begin{equation*}
u(x, t)= \pm m \mathrm{sn}(x-\lambda t) \pm \mathrm{ns}(x-\lambda t) \tag{30}
\end{equation*}
$$

and

$$
\begin{equation*}
u(x, t)= \pm m \operatorname{cd}(x-\lambda t) \pm \operatorname{dc}(x-\lambda t) . \tag{31}
\end{equation*}
$$

As $m \rightarrow 1$, the solution (29) is recovered from (30), and (31) gives a trivial constant solution.
Case 3. $p=2 m^{2}, q=2, r=1-m^{2}$.
In this case, (7) has the solution $f(\xi)=\operatorname{cs} \xi$ with $K=2-m^{2}-6 \sqrt{1-m^{2}}$. Thus, (4) has the PWS

$$
\begin{equation*}
u(x, t)= \pm \operatorname{cs}(x-\lambda t) \pm \sqrt{1-m^{2}} \operatorname{sc}(x-\lambda t) \tag{32}
\end{equation*}
$$

As $m \rightarrow 1$, (32) gives rise to the singular SWS (18).

### 3.3 Extended Mapping Method

This method gives a combination of two different JEFs as solutions. Here, we consider the solution of (7) in the

$$
\begin{equation*}
\text { form } u(\xi)=A_{0}+A_{1} f(\xi)+B_{1} g(\xi), \tag{33}
\end{equation*}
$$

where $f$ satisfies (3), $A_{0}, A_{1}$ and $B_{1}$ are constants to be determined, and $g$ satisfies

$$
\begin{equation*}
g^{\prime \prime}=g\left(c_{1}+c_{2} f^{2}\right), g^{2}=c_{3}+c_{4} f^{2} . \tag{34}
\end{equation*}
$$

When $B_{1}=0$, this method also reduces to the mapping method.
The motivation for (34) was the relationship of the second derivative of any JEF with itself and another JEF for some constants $c_{1}, c_{2}, c_{3}$ and $c_{4}$. As in (3), prime denotes differentiation with respect to $\xi$ in (34) as well.

Substituting (33) into (7) and using (3) and (34), we obtain the following algebraic equations:

$$
\begin{align*}
& q A_{1}-2 A_{1}^{3}-6 c_{4} A_{1} B_{1}^{2}=0,  \tag{35}\\
& c_{2} B_{1}-6 A_{1}^{2} B_{1}-2 c_{4} B_{1}^{3}=0,  \tag{36}\\
& -2\left(3 A_{0} A_{1}^{2}+3 c_{4} A_{0} B_{1}^{2}\right)=0,  \tag{37}\\
& -12 A_{0} A_{1} B_{1}=0  \tag{38}\\
& p A_{1}-K A_{1}-2\left(3 A_{0}^{2} A_{1}+3 c_{3} A_{1} B_{1}^{2}\right)=0,  \tag{39}\\
& c_{1} B_{1}-K B_{1}-2\left(3 A_{0}^{2} B_{1}+c_{3} B_{1}^{3}\right)=0,  \tag{40}\\
& -K A_{0}-2\left(A_{0}^{3}+3 c_{3} A_{0} B_{1}^{2}\right)=0 \tag{41}
\end{align*}
$$

Solving these equations, we obtain

$$
\begin{equation*}
A_{0}=0, A_{1}= \pm \frac{1}{4} \sqrt{3 c_{2}-q}, B_{1}= \pm \sqrt{\frac{p-K}{6 c_{3}}}, K=\frac{3}{2} c_{1}-\frac{1}{2} p \tag{42}
\end{equation*}
$$

with the constraint relation

$$
\begin{equation*}
3 c_{2} c_{3}-9 q c_{3}+8 c_{4}(p-K)=0 \tag{43}
\end{equation*}
$$

So, we can deduce from (42) that

$$
\begin{equation*}
B_{1}= \pm \frac{1}{2} \sqrt{\frac{p-c_{1}}{c_{3}}} \tag{44}
\end{equation*}
$$

We consider the case $p=-\left(1+m^{2}\right), q=2, r=m^{2}$.

Case 1. $c_{1}=-m^{2}, c_{2}=2, c_{3}=-1, c_{4}=1$.
So, (7) has the solutions $f(\xi)=\mathrm{ns} \xi$ and $g(\xi)=\operatorname{cs} \xi$ with $K=\frac{1}{2}-m^{2}$. Therefore, (4) has the PWS

$$
\begin{equation*}
u(x, t)= \pm \frac{1}{2}[\operatorname{ns}(x-\lambda t)+\operatorname{cs}(x-\lambda t)] \tag{45}
\end{equation*}
$$

As $m \rightarrow 1$, (45) gives rise to the singular solution

$$
\begin{equation*}
u(x, t)= \pm \frac{1}{2}[\operatorname{coth}(x-\lambda t)+\operatorname{csch}(x-\lambda t)] \tag{46}
\end{equation*}
$$

Case 2. $c_{1}=-1, c_{2}=2, c_{3}=-m^{2}, c_{4}=1$.
So, (7) has the solutions $f(\xi)=\mathrm{ns} \xi$ and $g(\xi)=\mathrm{ds} \xi$ with $K=\frac{1}{2} m^{2}-1$. Therefore, (4) has the PWS

$$
\begin{equation*}
u(x, t)= \pm \frac{1}{2}[\operatorname{ns}(x-\lambda t)+\operatorname{ds}(x-\lambda t)] \tag{47}
\end{equation*}
$$

As $m \rightarrow 1$, (47) gives rise to the same singular solution (46).
Case 3. $c_{1}=-1, c_{2}=2, c_{3}=-\frac{m^{2}}{1-m^{2}}, c_{4}=\frac{1}{1-m^{2}}$.
In this case, (7) has the solutions $f(\xi)=\mathrm{dc} \xi$ and $g(\xi)=\mathrm{nc} \xi$ with $K=\frac{1}{2} m^{2}-1$. Therefore, (4) has the PWS

$$
\begin{equation*}
u(x, t)= \pm \frac{1}{2}\left[\operatorname{dc}(x-\lambda t)+\sqrt{1-m^{2}} \operatorname{nc}(x-\lambda t)\right] \tag{48}
\end{equation*}
$$

In this case, as $m \rightarrow 1$, (48) will lead to a trivial constant solution.
Case 4. $c_{1}=-m^{2}, c_{2}=2, c_{3}=-\frac{1}{1-m^{2}}, c_{4}=\frac{1}{1-m^{2}}$.
Here, (7) has the solutions $f(\xi)=\operatorname{dc} \xi$ and $g(\xi)=\operatorname{sc} \xi$ with $K=\frac{1}{2}-m^{2}$. Thus, (4) has the PWS

$$
\begin{equation*}
u(x, t)= \pm \frac{1}{2}\left[\operatorname{dc}(x-\lambda t)+\sqrt{1-m^{2}} \operatorname{sc}(x-\lambda t)\right] \tag{49}
\end{equation*}
$$

In this case also, as $m \rightarrow 1$, (49) will lead to a trivial constant solution as in the previous case.
In order to illustrate the properties of the travelling wave solutions, we draw some plots of the kink wave solution, as in Figure1, and singular wave solution, as in Figure2.


Figure 1. Kink wave solution (14) with $\lambda=1$.


Figure 2. Singular wave solution (18) with $\lambda=1$.

## 4. Conclusion

The modified KdV-type equation under consideration was found to have shock wave solutions and singular wave solutions. It was not possible to derive solitary wave solutions in terms of sech functions using the method. It is worth investigating the possibility for such solutions as future research.

## Acknowledgement

I would like to express my sincere gratitude to the unknown referees whose suggestions added to the value of the paper to a great extent.

## References

1. Malfliet, W. The tanh method: 1. Exact solutions of nonlinear evolution and wave equations. Physica Scripta, 1996, 54, 563-568.
2. He, J.H. and Wu, X.H. Exp-function method for nonlinear wave equations. Chaos Solitons and Fractals, 2006, 30, 700-708.
3. Liu, J., Yang, L. and Yang, K., Jacobi elliptic function solutions of some nonlinear PDEs. Physics Letters A, 2004, 325, 268-275.
4. Peng, Y. Exact periodic wave solutions to a new Hamiltonian amplitude equation. Journal of the Physical Society of Japan, 2003, 72, 1356-1359.
5. Krishnan, E.V. and Peng, Y. A new solitary wave solution for the new Hamiltonian amplitude equation. Journal of the Physical Society of Japan, 2005, 74, 896-897.
6. Krishnan, E.V. and Biswas, A., Solutions to the Zakharov-Kuznetsov equation with higher order nonlinearity by mapping and ansatz methods. Physics of Wave Phenomena, 2010, 18, 256-261.
7. Alzaidy, J.F. Extended mapping method and its applications to nonlinear evolution equations. Journal of Applied Mathematics, 2012, Article ID 597983, 14 pages.
8. Hirota, R. and Satsuma, J. Soliton solutions of a coupled Korteweg-de Vries equation. Physics Letters A, 1981, 85, 407-408
9. Dodd, R. and Fordy, A.P. On the integrability of a system of coupled KdV equations. Physics Letters A, 1982, 89, 168-170
10. Krishnan, E.V. Remarks on a system of coupled nonlinear wave equations. Journal of Mathematical Physics, 1990, 31, 1155-1156.
11. Wang, M.L., Solitary wave solutions for variant Boussinesq equations. Physics Letters A, 1995, 199, 169-172
12. Lawden, D.F., Elliptic Functions and Applications, Springer Verlag, 1989.
13. Peng, Y.Z. and Krishnan, E.V. Exact travelling wave solutions to the (3+1)-dimensional Kadomtsev-Petviashvili equation. Acta Physica Polonica, 2005, 108, 421-428.
14. Gurses, M. and Peckcan, A. $2+1 \mathrm{KdV}(\mathrm{N})$ equations. Journal of Mathematical Physics, 2011, 52, 1-14.

## EDAMANA. V. KRISHNAN

15. Wazwaz, A.M. A modified KdV-type equation that admits a variety of travelling wave solutions: kinks, solitons. peakons and cuspons, Physica Scripta, 2012, 86, 1-6.
16. Ebadi, G., Krishnan, E.V., Labidi, M. Zerrard, E. and Biswas, A. Analytical and numerical solutions to the Davey-Stewartson equation with power law nonlinearity. Waves in Random and Complex Media, 2011, 21, 559590.

## Appendix

Consider the function

$$
\begin{equation*}
F(\phi, m)=\eta=\int_{0}^{\phi} \frac{d \theta}{\sqrt{1-m^{2} \sin ^{2} \theta}} \tag{A.1}
\end{equation*}
$$

Letting $t=\sin \theta$, we obtain

$$
\begin{equation*}
\eta=\int_{0}^{\sin \phi} \frac{d t}{\sqrt{\left(1-t^{2}\right)\left(1-m^{2} t^{2}\right)}} \tag{A.2}
\end{equation*}
$$

This is called Legendre's standard elliptical integral of the first kind.
When $m=0, \eta=\int_{0}^{x} \frac{d t}{\sqrt{1-t^{2}}}=\sin ^{-1} x$, where $x=\sin \phi$.
When $m=1, \eta=\int_{0}^{x} \frac{d t}{1-t^{2}}=\tanh ^{-1} x$, where $x=\sin \phi$.
For $0<m<1$, we define $\eta$ as the inverse of a function which is known as Jacobi Sine elliptic function, expressed in the form $\eta=\mathrm{sn}^{-1} x$ so that $x=\operatorname{sn} \eta$ or $\operatorname{sn} \eta=\sin \phi$. Here, $m$ is known as the modulus of the JEFs (see [12]).
We define two other elliptic functions as

$$
\begin{equation*}
\mathrm{cn} \eta=\sqrt{1-x^{2}}=\sqrt{1-\operatorname{sn}^{2} \eta} \tag{A.3}
\end{equation*}
$$

and

$$
\begin{equation*}
\operatorname{dn} \eta=\sqrt{1-m^{2} x^{2}}=\sqrt{1-m^{2} \operatorname{sn}^{2} \eta} \tag{A.4}
\end{equation*}
$$

$\mathrm{cn} \eta$ is known as Jacobi cosine elliptic function and $\operatorname{dn} \eta$ is known as JEF of the third kind.
As $m \rightarrow 0, \operatorname{sn} \eta \rightarrow \sin \eta, \operatorname{cn} \eta \rightarrow \cos \eta$ and $\operatorname{dn} \eta \rightarrow 1$. As $m \rightarrow 1, \operatorname{sn} \eta \rightarrow \tanh \eta, \operatorname{cn} \eta \rightarrow \operatorname{sech} \eta$ and $\operatorname{dn} \eta \rightarrow \operatorname{sech} \eta$. Note that $\mathrm{ns} \eta, \mathrm{nc} \eta$ and nd $\eta$ are the reciprocals of the three JEFs and $\operatorname{sc} \eta, \operatorname{cd} \eta, \operatorname{ds} \eta, \operatorname{cs} \eta, \operatorname{dc} \eta$ and $\operatorname{sd} \eta$ are the ratios of the corresponding JEFs.

Received 14 August 2014
Accepted 28 January 2015

